SOCIAL SCIENCE

Time Allowed : 3 Hrs. | [ Maximum Marks : 100

Trenedt FUrE T I T H IWE |
Candidates are required to give answers in their own words as far as Practicable.

Marks allotted to each question are indicated against it.
f%d3T : / Instructions :
@) =ty e €
All questions are compulsory.

(i) e T H 40% TS T 60% faoTTeTs Y9 @ T E |
The question paper consists of 40% objective type and 60% descriptive

questions.
(iii) STR-TREHT & =g 1 Tl 7=/ A Sl
Do not leave blank page/pages in your answer book.

T - ‘o (EfTeS W)

PART -'A' (Objective Type questions)

EHEETSll Rt fered
v bl ) answer) 1x10 =10

Multiple choice questions (select the right

(i) T B ST e T E

(@) 1940 (b) 1941
(c) 1942 (d) 1944
When did the Quit India Movement start?
(@) 1940 (b) 1941
(c) 1942 (d) 1944 i

Downloaded from cclchapter.com



(if)

(iii)

(iv)

et W) TeTE g d-

(a) 1764 § (b) 1763

(©) 1755 % (d) 1757 #
Battle of Plassey was fought in the year-

(a) 1764 (b) 1763

(c) 1755 (d) 1757

R T Sfae TR ST A1-

(a) AT (b) S AT
(c) s (d) @IS s

India's last Governor General was-

(a) Lord Wellesley (b) Lord Mountbatten

(c) Lord Dalhousie (d) Lord Curzon

| ST & ST 9-

(a) T TH HiEd T (b) FTR =% foRmATR
(c) Tt T, e (d) Fere e

Founder of Arya Samaj was -

(a) Raja Ram Mohan Roy
ami Dayanand Saraswati (d) Mahatma Gandhi

(b) Ishwar Chandra Vidyaségar
(c) Sw
Fafrareat @1 314 ¢ |

(a) P uakeal (b) HeRTEH

© AT ARCA T (d) T A TR 1 I

Viticulture means -

(a) Cuitivation of Grapes (b) Breeding of Fish
(c) Breeding of silk worms (d) Cultivation of Fruits, Flowers & -
Vegetables
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(vi) RO S ¥
() WS (b) T Tl
() TferEd il (d) Fwf
Renewable resources are - ' .
(@) Solar Energy (b) Wind Energy

(c) ‘Hydroelectric Energy (d) All of these

(vii) A A QT wRw T T8 steen § oftedy S §?
(@) 1, 9g 3iR feame (b) =, g 3R ya™
(c) 1, Y 3T Sfer Fewem

Which are three main factors that cause population change?

(a) Births, deaths and marriage ~ (b) Births, deaths and migration
(c) Births, deaths and life expectancy
(viii) g & G 1 HEH &~
(@) 4 (b) 59
() 67 @ 3
Duration of tenure Lok Sabha members is -
(a) 4 years (b) 5 years
(c) 6 years (d) 3 years
() R & T S S A |
(a) FrsAEgH (b) vﬁaazgﬁ.
(c) awi=mgH @ SO g A
Wheat is grown in India -
(@) In summer season (b) In winter season
() Inrainy season (d) Inspring season

(x)- I 1 e = e &

(a) Terem & (b) A .
(c) feeeht@ (d) wwErTEH
The Supreme Court of India is situated in -

(a) Shimla (b) Mumbai

() Delbi (d) Chandigarh
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1x105,

frfafed we & ST ST
Answer the following questions -
(i) SRS i A7

Who was Vasco da Gama ?
(i) S e i 97

Who was James Mill ?

i

(iii) Tifafd & LI S &2 .

Who was the founder of Shantiniketan ?
(iv) TR T A FA G MCEE !

When did India get freedom from the British rule ?
(v) 19997 fava Ht SrEEA faat ot ?

What was the world's population in 1999 ?
(vi) fermerer W21 A Sheae S et €E €2

How many Lok Sabha seats are in Himachal Pradesh ?
(vif) firfiehe= (Pisciculture) ¥ 34 1 SEECR YA

What do you understand by Pisciculture ?
(viii) Frg & forg gt g S 82

Which is the best soil for growing cotton ?
(ix) i ST S S STeEl i 92

Who was the chairman of the Constituent Assembly of India ?
(x) fyve F1 e el T A e 8% |

Where did the world's greatest gas tragedy happen ?

et T X | / Fill in the blanks.

(i)

(ii)

AN =r7A XTYTT N2NN

1x5=5
Sar o7elt S AL HAT covnerreiseeiii, F WEE |
Haidar Ali and Tipu Sultan were the rulers of
st 1 et (Chints) TR BRA D
................... I | ke ¢

The ward 'Chintz' comes from the Hindji
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(i) T T R TR i, .

Distribution of resources on earth is ......c.oocviviviinniieiines i

(iv) forea & Al T SO SERH QU v 14
................................... is the leading producer of copper in the world.
(v) WA D S TR ooerrrvnsrninnssesssnisssees T
................................... is the sitting President of India.
4, TR TS TR 1x5=5
(i) T = (a) 1291930
(ii) SEram (b) ® |l
(iii) I (c) 13 31919
(iv) e ST s (d) eie
(v) Treewes (e) TR # STSI-fodieht =t <t g
Match the following -
(i) Rani Channamma (@) 12 March 1930
(i) DandiMarch (b) Lok Sabha
(iii) Coffee (c) 13 April 1919
(iv) Jallianwala Bagh Massacre  (d) Brazil
(v) Lower House (e) Led an anti-British movement in Kitoor
5. 9l 91 TTeid oarg, / Write True or False. ' 1x4=4
() T WS 3SREd! Wl # Hered Bl T | ( T/ HA)
The Mughal empire became stronger in the eighteenth century. (True/False)
(i) STGERT I ST o1 AT FHEl S €| (T/ )
Osaka is known as Manchester of Japan. (True/False)
(ifi) 7o TRET AT © | (H/ 3T
Water conservation is necessary. (True/False)
(iv) EE T refae 9 e § (H/ 3T )
Nylon is not a natural fibre. (True/False)
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6.

T - ! (g I 9
PART - 'B' (Very short answer type questions)

ﬁwﬁ@am&waﬁﬁq— Chaa
Answer the following questions -
(i) SSMIENR?
What is Bandanna ? ’
(i) T T T ewierd ot Qe e Wi oft, R oS 7 g fea ?
What was the demand of Rani Lakshmibai of Jhansi that was refused by the
British? ,
(iif) T Hed T Y R Al R w2
What social ideas did Ram Mohan Roy support?
(iv) SR g€ M aTel o fedi i e & fag 1St 3 o= faman 2
What did the Britishers do to protect the interests of those who converted
to Christianity ?
(v) ST WS R ?
What is resource conservation ?
(vi) ofa Freier & S < wru fafe)
Write any two reasons for land degradation.
(vii) SIS ST 61 o fen &t ?
What was the role of Planning Commission ?
(viii) qavr i 1 72
What is planting agriculture ?
(ix) SFgfaumd gt § 2
What do you understand by Public facilities ?
(x)

I Telreh H JATET kT IO A o1 W e ) R ford

What are the sources of environment pollution in your area ? Write any.
two. |
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7.

8.

frfafad gl & S -

Answer the following questions -

ﬁqﬁf&amﬁwé(ﬁ??ﬂﬂ)-

Answer any three of following questions -

(1)

(i)

(iii)

(iv)

Ix6=18

U SRR T WA Y W Tt senfifa 8w oft ?

Why European trading companies were getting attracted to India ?
S T ARG X ST A |t oy e fareima 2

How did the last Mughal emperor live the last years of his life ?
"I v § A §?

What is meant by the term 'Industry' ?

forea =t S et e @ og T ¥ 1 =i 2

The world population has grown very rapidly. Why ?

39! T =1 o o g # frsht stemgfd & Seretn e ¥ 2
Why do you think there are few cases of private water supply in the world?

ek G 1 TS B & o = drgand | =nee ?

What are the qualifications to become a member of Lok Sabha ?

qrT - 7 (e IR W)
PART - 'C' (Long answer type questions)

4x3 =12

ST & FamEt 2R g sfem S Ul & s foRd ol W faas &2
What were the areas of conflict between the Nawabs of Bengal and the East
India company ?

T Y397 ST o SR . a&mwmmmﬁﬁ?

What did Dr. Ambedkar want to achieve through the templle entry
movement ? ‘

mm@wﬁmﬁmmmm%?

How does the government help the farmers in the development of

agriculture ?

w%ﬁauﬁﬁ@ﬁwﬁammﬂmawm ?

What would happen if there were no restrictions on the powers of elected

representatives ?
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9,

10.

frerfafad weii & SWR-
Answer the following questions -
‘ ?
(i) 1937-47ﬁwawﬁmwﬁﬁﬂ%wwwmﬂwfﬁwfp .
Discuss those events of the 1937-47 period that led to the creation of FaKistan.

OR
TSI WG S Y B 6 A g of ?

Name three problems that the newly Independent nation of India faced.

(i) 1 ST T & o R 2w 5 el o feaor v i frsaer & 2 319! A1
3 gqe H 9 ] < |
Do you think that the distribution of public facilities in our country is

adequate and fair ? Give some examples of your own to explain.
OR

wmwmﬁm%ﬁaﬁmafﬂwﬁﬁmmﬁ@@%?mﬁ?
Would you agree with the statement that economic and social

marginalisation are interlinked ? Why ?

a7 - g ()
PART - 'D' (Map) -
(a) Freferfed @ e % Y A # -

ol 1)(3 —_ 3

() O (i) SR (i) frer

Locate the following on the outline map of India.

(i) Punjab (ii) Jammu-Kashmir (i)  Bihar

(b) frfifior 1 fova @ e At # - Hans

(i) dIfRE (i) feg TR (idi)  3ToRyapy

Locate the following on the outline map of World.

(i) Pakistan (ii) Indian Ocean (i) Africa

o o o o S A
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